EXAM 2

   PROFESSOR LEFFLER


ECONOMICS 200B                                                          FALL 2007


Be sure to put your name and your TA’s name and Quiz Section letter.  Explain all your answers.  

ANSWER 4 OF THE 5 QUESTIONS.

1. True, false, uncertain, explain.

a. Since production workers at firms generally make considerably less in wages than vice presidents, we expect the annual bonuses for production workers to be a greater percent of their total pay than for vice presidents.
False.  Unlike wage payments, annual bonuses are not guaranteed.  Rather these are payments that are contingent on the success of the firm.  Vice presidents are the organizers and monitors of production and their efforts more directly impact the success of the firm than individual production workers.  We therefore expect the management workers to have compensation more weighted to the contingent bonuses than for the production workers.  
b.  Middlemen do not produce any goods.  They therefore are not productive members of society.
False.  Middlement perform a number of valuable functions in a world with complex production.  They hold inventory based on their predictions of consumers’ taste; by engaging in repeated transactions, they offer low cost identification of a trading partner; they specialize in locating reliable suppliers. 
c.  In price taker markets all output units with value to consumers greater than the costs of producing the units will be produced.
True.  Price takers will continue to increase output as long as price exceeds marginal cost.  Hence, the industry supply will be given by the price takers’ marginal costs.  The equilibrium price will be determined by demand equal supply.  Demand gives the consumers’ marginal values, the supply the costs of producing the units.  Therefore, all goods with value (as revealed by the price) will greater than marginal costs will be supplied. 
d.  All goods have a price and money is no exception. Its price - the interest rate - is determined in the marketplace where money is borrowed and lent.
True/false/sort of true?  A price is simply the marginal value of  something in terms of another good.  Money has a value in terms of other goods.  But that is not the interest rate.  The interest rate is the percentage premium in value of current goods compared to the value of those goods not available until the future.  That premium (price) is determined in the market where the rights to current goods (not money) is traded for the rights to future goods (borrowed or lent).  The price of money is rather the value in terms of other goods; i.e., a dollar has the value of one third a gallon of gasoline.  
2 True, false, uncertain, explain.
a.  If individuals could trade time, the Law of Comparative Advantage would be replaced by the “Law of Absolute Advantage.”
True.  The Law of Comparative Advantage is that the value of production from a given set of resources is maximized by having each individual product specialize in producing the goods for which he/she has the lowest foregone production of others goods compared to other individuals.  If individuals could trade time (meaning I could trade you other goods and receive your time for my use of consumption of leisure), then those individuals that produce the most output per unit of their time (absolute advantage) should specialize in production, trading their produced goods for others’ time.   
b. Assume the prospects for fuel cell technology are favorable.  Assume declining petroleum reserves are expected to cause significant oil price increases in the next ten years thereby increasing the demand for alternative energy sources like fuel cells.  Therefore the stock value of companies such as Ballard Fuel, which specializes in fuel cell development, is expected to increase over the next ten years.”
True.  The stock value of Ballard Fuel will be determined by the present value of the expected net profits over time.  The profits of Ballard Fuel are expected to rise over time as the price of oil rises.  As the higher future profits move closer to the present (over time), the present value will increase.  (Note that this answer is consistent with efficient markets as the value of Ballard reflects the best expectations of its profits.)   
c.  By purchasing the building in which it runs its business, a firm can both lower its costs and protect itself from unexpected changes in rental costs.
False/True.  The costs to a firm of using its owned space is the foregone opportunity of renting the space.  Hence, it saves no costs in production by owning the space.  However, owning the space is a form of a Hedge.  A producer faces risks related to the value of property (at high (low) property values, the firm would choose a production technology utilizing little (lots of) space).  The decision about space use has to be made prior to having complete information on future rent rates.  By owning property, when rents go down (up) [benefiting (hurting) the firm in its production], the firm loses in the property market.  Note that it doesn’t matter if it owns the space it uses or other property. 
d.  It is very difficult for one country to retain its comparative advantage over time.  As technology advancements occur, the country that was specializing in a particular production activity is at a disadvantage since it has a relatively obsolete stock of capital equipment.
False.  The past expenditure on capital equipment is a sunk cost and has no effect on the relevant production costs for the producer with existing (not state of the art) capital.  The producer could elect to build a new plant with the latest, greatest technology if that would result in lower costs.  It can only be an advantage to have existing capital equipment (since for a new entrant all capital cost is variable).  Capital equipment becomes obsolete only because a producer elects not to use it because an alternative has lower costs (and there is typically no reason to think that the cost of the alternative is impacted by the existence of the current capital.) 
3.  (a-c) The state legislature has decided to finance prenatal health care through an increased tax per pack of cigarettes.  Evaluate each of the following claims about the effect of the tax:

a.  The increase in the tax per pack will increase the amount of tax revenue collected?
Uncetain - depends on the percentage increase in the tax compared to the percentage reduction in purchases resulting from the increased price from the increase in taxes.  Note that with an inelastic demand this must be true, because the percentage increase in the price will be less than the percentage increase in the tax, and the percentage reduction in quantity will be less than the percentage increase in price. 
b.  The amount of tax collected will be greater the more elastic is the demand.  
False.  The tax revenue will be the tax multiplied by the quantity purchases.  The more elastic the demand, the greater will be the reduction in quantity purchased from the tax increase.    
c. The consumption of cigarettes will decline over time.
True.  (Reward a graph.)  The Second Laws of Supply and Demand (more elastic with more response time) both imply greater quantity reductions from the price increase over time.  

d.  In discussing the pending free trade legislation with Peru, Representative Carol Shea-Porter commented that “with this bill, we’re saying to Americans:  We’re sending your jobs overseas.”  (USA Today 11/7/07) Do you agree?

There will be sectors of the U.S. economy where Peruvians will have a comparative advantage over current Amercan producers, for example, Salmon farming.  Those US workers currently working in those sectors will lose their jobs in those sectors and be redirected (by prices) to other sectors where we continue to have a comparative advantage over Peruvian workers (e.g., services).  Once the workers transition into the new areas, there will be no change in the number of  U.S. jobs, but the relocated workers are expected to earn less than they did previously (while overall the amount of goods available in the U.S. will increase.) 
4. Jody can catch 3 fish or gather 4 ounces of fruit per hour.

a.  If Jody had access to a store where fish is bought and sold for $1 each and fruit for 50 cents per ounce, would you expect her to specialize in production?  
Yes.  Jody can gather extra fish at a cost to her of 1 1/3rd ounces of fruit.  She can then sell the extra fish and get 2 ounces of fruit.  Hence, she will maximize her consumption, given her work effort, by specializing in fish production. 
Chris can catch 2 fish or 8 fruit per hour.

b.  If Chris and Jody meet regularly, do you expect specialization and trade?  If so explain how this might occur.
Yes.  Prior to Chris and Jody interacting, Jody and Chris will “trade with nature” until their MVs equal their costs in production.  Jody, on her own, will therefore have a MV of fish of 1 1/3rd ounces of fruit, and Chris will have a MV of fish of 4 ounces of fruit.  If they then meet, mutually beneficial trade is expected at some trading rate between their MVs (say 1 fish per 2 ounces of fruit.)  In response to the new trading rate, Jody will see that she does best my specializing in fish and trading for fruit (getting 2 ounces instead of the 1 1/3rd from nature.)  Chris will note that by specializing in fruit production, he gets ½ fish per ounce of fruit rather than the ¼ he gets from nature.  
c.  If Chris and Jody meet, what do you expect to happen to Chris’s consumption of fruit compared to when he was alone?
The simple answer is Fall.  The price of fruit goes up to Chris from ¼ fish to ½ fish.  Law of Demand predicts a reduction in his fruit consumption.  (Note as extra credit – there is also an income effect because Chris will be richer in the new society.  This income effect can outweigh the Demand substitution effect.)
d. If Sam can produce 1 fish or 4 fruit per hour, will Chris benefit from Sam joining the Jody-Chris society?
Sam has a cost of fruit that is identical to that of Chris (1/4 fish).  At the Jody-Chris price of 1 fish per 2 ounces of fruit, Sam will be motivated to specialize in fruit competition.  This will increase the demand for fish (and the supply of fruit), increasing the price of fish (and lowering the price of fruit.)  Jody (and Sam) will benefit but Chris will be harmed.      

5.  (a-b True, false, uncertain, explain.)

a.  “The government could lower our doctor bills if it paid the entire cost of physicians’ education. Such a policy would make it unnecessary for physicians to recover the cost of their education in their fees.”  

False (or uncertain).  The price of physicians’ services is determined by the demand and supply.  Who paid for the education has no direct effect on either.  The costs of physicians’ education is a sunk cost when they are in practice.  Thus the False.  The (or uncertain) arises because if the government pays for the expenses of medical school, there will be a large increase in the demand for medical education, and a “shortage” of places in the schools at the prior marginal applicant quality.  Schools may react by selecting better applicants who are able to provide more services.  (In addition, currently medical schools can expand only be either lowering the costs or lowering the accepted applicant quality.  With the government paying, the schools may be able to and seek  to expand without lowering their tuition and fee collections or the quality of the marginal applicant.)  
b. An unexpected inflation will reduce the real costs to the citizens of the United States of the large trade and government deficits.
True and false (or uncertain).  An unexpected inflation will unambiguously lower the real value of foreign held dollar denominated financial assets (e.g., treasury bills.)  This will lower the amount of U.S. goods that will be needed to pay back the holders of these assets.  (To the extent that foreigners hold real assets like land, buildings, stock, there will be little effect.)  With regard to a government deficit, unexpected inflation will certainly lower the real value of  the government bonds used to finance the deficit (and the real costs of the promised Social Security and Medicare promises to the boomers).  However, the debtors (the citizens that ultimately must payoff the bonds) and the creditors holding the bonds are all part of the U.S. society.  This implies that there is no real costs in the first place (other than the distortion of investment decisions and political spending costs that are unimpacted by the unexpected inflation.)   
(c-d evaluate) Jeld Wen makes windows and door with very high insulation values (very energy efficient).  Procter and Gamble makes consumer products (soap, shampoos, …) .  

c.  If there is an increase in the real interest rate, how will the market value of Jeld Wen change compared to the change in  the value of Procter and Gamble?   

Both companies’ market value will be based on the present value of their expected profits.  And holding those expected profits constant, both will have an decrease in value with a higher interest rate.  However, Jeld Wen’s business is selling products with current costs giving future benefits.  As a result of a increase in the real interest rate, the present value of the energy savings from their doors and windows will fall and this will reduce the demand for their products.  Hence, Jeld Wen will have an additional decrease in its expected future profits such that we expect their value to decrease by more than for Procter and Gamble.   
d. Political unrest in the middle-east is expected to intensity.  This will cause future disruptions of oil supplies.  As a consequence the demand for Jeld Wen’s products should see large increases.  We therefore expect large increases in the value of Jeld Wen stock.
False.  The efficient market proposition is relevant to this question.  The most informed speculators will have incorporated their best predictions about the unrest on Jeld Wen’s fortunes.  Hence, the stock price will already incorporate this effect.  While the price of Jeld Wen may be high because of this expectation, no increase in value is expected.  
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